Measurement Word Problems Worksheets

1. David is driving from Los Angeles to San Francisco. The total distance is 617 kilometers. He has 468
kilometers left to drive. How many kilometers has he driven so far?

2. The piano weighs 289 kilograms more than the piano bench. How much does the bench weigh?

3. Tank A holds 165 fewer liters of water than Tank B. Tank B holds 400 liters of water. How much water
does Tank A hold?
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. David drives from Los Angeles to San Francisco. The total distance i 617 kilometers. Me has 468
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. The plano weighs 289 diograms more than the plano bench. How much does the bench weigh?
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. Tank A holds 165 fewer Lters of water than Tank B. Tank B holds 400 liters of water. How much water
does Tank A hold?
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Tank A holds 235 liters,
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